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All questions are to be attempted. 7

Part A of each question is compulsory.
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L. Part A is compulsory. Do any two out of Parts B, C

and D :

(A) From the following information, calculate GDP, Private
Disposable Income and Private Savings : 22,1
Consumption 4,500
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(D) () Do you agree with the statement that CPI inflation

overstates increases in costs of living ? Give
reasons for your answer. : 3

(i) With the help of data given below, calculate the

rate of inflation for each year from 2014 to 2017

considering 2013 as base : 2
Year CPl
2013 60.0
2014 61.5
2015 65.0
2016 64.5
2017 66.0
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() 2013 F IR T§ T g N Ru Mo
FFHSt & oA | 2014 ¥ 2017 7 Al
TR-THIG F W F@ I

2013 00

2014 615
2015 ‘ 650
b | 2006 645
| 2017 660

Part A is compulsory. Do any rhree out of parts B, C, D

‘and E :

R
. el

(A) () Do you agree with the statement that ‘bond prices

and rate of interest are negatively related’ ? Give

mmns for your answer. 2

(i) \late real interest rate given that rate of growth

. supp‘)’ increases at 16% per year.2

)t and causes of Hyperinflation ?

—
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(i) ITAfaE S TR MUET FwifSu afy
arfa® GDP gfs T 7%, T =9 T 14%
IR @ Iff s @ 16% whad #

AT TI-THIA FH OURM TS FHRI a3 |

g whifd # Ak s & fou o=@ 3w

A S ot Afadl w1 gema S |
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T 59 & o wafam &t & 2

() T w1 s fogm & ol wm o
fis am 1000 3fe ¥ 3R g R 400 TFFE
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W H MO S Ak g3 gfd 600 TS
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Hram ?
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Thifg & yyg d f@e R = € 2

() T8 FYT FH U HAT : T8 TWHA
"2 & WEARS FR W F W e qw-
orifa Y1 @t ¥

(i) GDP SR W & wem AT few ¥, W
o 9 # sep. w1 gfa @ ¥, awafaw
W T gy, &, @ wfa s g Wt Al

wifo

P 1O

Scanned with CamScanne-r



"1*L WL
equil1oriuir

a 1
LM analy

- R alavrar
the relevar

Scanned with CamScnner




PR 8414

(/) Given that in an economy
C=08(-nY
| - 1=025
1 =900 - 50i
5-s00
L = 0.25Y - 62.5i
_)=500 |
: " (a) Derive the equation for the IS curve.
) Derive the equation for the LM curve.
() What are the equilibrium levels of income and
~ the interest rate ? ' 222
(ﬁs Explﬂin polijcy mix. What is its significance ? Explain
" uiing smtable d:agram ' 4
usmg suitable dlagrams
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me tax rates,

pact of these
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